compute probability to stay in state until
time stamp, then multiply with IRF value . M-OK-F machine
E i question: how to compute

practically necessary conditional state change probability? Motivation trace of costs: (2,30);(4,20)

theoretically 0 for continuous distribution what happened to produce this trace?

machine example model

TKeep/TReset
EallEsome —— wvariations Your Motivation —— symptoms of a patient
SConeT/SCnT tester
possible disease development from symptoms system--> behavior
check manufacturer specifications . . discrete stochastic models —— grafical representation
through protocol data new guestions possible
failure sequence-> car repair cost & time advantages | must be completely specified
rmore flexible hidden model Hidden non-Markovian Models
based on DTMC
system does not have to be completely observable
HMM — not completely observable systems
b . hard to model
both have elements tagged with time stamps changes in trace and path
DSM: system-= behawvior
Pi - initial probability vector . )
g ’ combining DSM und HMM —— HMM: behavior--> system
transition matrix A
utilizing protocol data for system analysis

contains elements of TR

boolean value specifying RA (true) or not (false)

transitions output probabili | new TR set of activities, (S.V,TR,A,RO) i . - S -
putp vy each TRk=(dist, b{v), aging) time dependent transition probabilities == continuous distribution functions
dist - probability distribution of activity duration HnMM - — -
emissions dependent on state transitions
V set of output symbols . :
transition independent sampling process

S set of states
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